DELTA DESIGNS L T D.

1535 N.W. 25TH
TOPEKA, KS 66618

AN

\_
45 23 (
1 1/2 OPPORTUNITY 3721 / JOB 102359

I._ Y I 2244 | 5610

° i ° FINISH:
} ASA-61P Gray

EST WEIGHT:
337.5 Ibs

QTY REQ'D:
5 Units as shown

_ NOTES:

g oo o Each pull-out shelf is vertically fixed

— o - - @ in place. Each shelf includes one left
hand Lock-In/Out Hvy-Duty

Suspensions. The rack to be

anchored to the floor and wall.

N
S

Y

@ @

c——— 9 . L2 J ¢9/32 Anchor Hole \_

J
¢ PROJECT DESCRIPTION )

>
——™—/17

Natural History Museum of LA

CLEAR SCALE: 1/2 Vernon, CA
TYP >

Z
.. .. (" DRAWING DESCRIPTION )

— 9 k v Item 01 Specimen Tank Rack
° ° 1 ° ° 45" W x 83"H x 23" D
T kv 7 ! : > <
SCALE AS NOTED
SIDE ELEVATION DRAWN S CLARK 5/31/2018

FRONT ELEVATION SCALE: 1"=1'-0"
SCALE: 1"=1"-0"

DRAWING NO.

02244-01

\_ SHEET 1 OF 4 )

COPYRIGHT © 2018 DELTA DESIGNS LTD. This material is proprietary and confidential, and the disclosure reproduction (by photography, film, blueprint or
otherwise) or incorporation into any information retrieval system without first receiving written approval from Delta Designs LTD. is expressly prohibited by law.

C:\Delta Engr\Designs\000 Projects\02244-01.iam
C:\Delta Engr\Designs\000 Projects\02244-01.idw



| @

DETAIL X1
SCALE: 1/2

1%

1‘716*

DETAIL X2

SCALE: 1/2

45
| ]
X1 i_ B J
21% 1D,
40% 1.D.
I___ ]
I
X2 |
I
| LB —

PLAN SECTION X-X

SCALE: 11/2"=1"-0"

DELTA DESIGNS L T D.

1535 N.W. 25TH
TOPEKA, KS 66618

AL

\_
e
OPPORTUNITY 3721 / JOB 102359
2244 | 5610

FINISH:
ASA-61P Gray

EST WEIGHT:
337.5 Ibs

QTY REQ'D:
5 Units as shown

NOTES:

Each pull-out shelf is vertically fixed
in place. Each shelf includes one left
hand Lock-In/Out Hvy-Duty
Suspensions. The rack to be
anchored to the floor and wall.

\_

J
¢ PROJECT DESCRIPTION )

Natural History Museum of LA

County
Vernon, CA
\_ J
¢’ DRAWING DESCRIPTION )

Item 01 Specimen Tank Rack
45" W x 83" H x 23" D

\_ Z

( sonc AS NOTED )

prawN S CLARK 5/31/2018

DRAWING NO.

02244-01

\_ SHEET 2 OF 4 )

COPYRIGHT © 2018 DELTA DESIGNS LTD. This material is proprietary and confidential, and the disclosure reproduction (by photography, film, blueprint or
otherwise) or incorporation into any information retrieval system without first receiving written approval from Delta Designs LTD. is expressly prohibited by law.

C:\Delta Engr\Designs\000 Projects\02244-01.iam
C:\Delta Engr\Designs\000 Projects\02244-01.idw



23 1535 N.W. 25TH
\ TOPEKA, KS 66618 )
( )
A A A A A A OPPORTUNITY 3721 / JOB 102359
2244 | 5610
° ° FINISH:
ASA-61P Gray
EST WEIGHT:
337.5 Ibs
R o QTY REQ'D:
= o oo |po 5 Units as shown
L NOTES:
L[ ¢ ° D Each pull-out shelf is vertically fixed
<@ < in place. Each shelf includes one left
hand Lock-In/Out Hvy-Duty
°© © Suspensions. The rack to be
202 @ @ anchored to the floor and wall.
i & o © e [ |
11/16 - o o oe 0
l TT TT
) = ] oes
o
O
of o. o (I ‘_9._
O O M T
I - o o ° )o- ]
T 1 Y2
I Y1 &
L il L[H!
Q \. Z
\_J (PROJECT DESCRIPTION \
Natural History Museum of LA
DETAIL Y2 County
DETAIL Y1 TSCALE: 1/2 o oo ° R I Vernon, CA
SCALE: 1/2 . . L )
i —l_lj ll_ro — ( DRAWING DESCRIPTION )
T i
Item 01 Specimen Tank Rack
H 45" W x 83"H x 23" D
@ \_ 7
(scae AS NOTED )
DrRaWN S CLARK 5/31/2018
SECTION Y-Y s
SCALE: 1"=1'-0" '
02244-01
\_ SHEET 3 OF 4 )

DELTA DESIGNS L T D.

COPYRIGHT © 2018 DELTA DESIGNS LTD. This material is proprietary and confidential, and the disclosure reproduction (by photography, film, blueprint or
otherwise) or incorporation into any information retrieval system without first receiving written approval from Delta Designs LTD. is expressly prohibited by law.

C:\Delta Engr\Designs\000 Projects\02244-01.iam
C:\Delta Engr\Designs\000 Projects\02244-01.idw



PART LIST

\_
>

ITEM QTY PART NUMBER DESCRIPTION MATERIAL
101 8 0121E-0394 1" REINFORCEMENT CHANNEL 0.048 (18 GA) CRCQ STL
102 2 101-02244-01 UPRIGHT CORNER POST, LEFT 0.075 (14 GA) CRCQ STL
103 2 102-02244-01 UPRIGHT CORNER POST, RIGHT 0.075 (14 GA) CRCQ STL
104 2 103-02244-01 UPRIGHT BOTTOM RAIL 0.060 (16 GA) CRCQ STL
105 2 104-02244-01 UPRIGHT TOP RAIL 0.060 (16 GA) CRCQ STL
106 8 105-02244-01 UPRIGHT SUSPENSION RAIL 0.060 (16 GA) CRCQ STL
107 8 111-02244-01 HORIZONTAL SUPPORT BAR 0.060 (16 GA) CRCQ STL
108 1 112-02244-01 TOP PANEL 0.048 (18 GA) CRCQ STL
109 4 501-02244-01 PULL-OUT SHELF BODY 0.060 (16 GA) CRCQ STL
110 4 502-02244-01 PULL-OUT SHELF BACK 0.060 (16 GA) CRCQ STL
111 8 512-02244-01 SUSPENSION SHELF BRACKET 0.060 (16 GA) CRCQ STL
HARDWARE LIST

ITEM QTY PART NUMBER DESCRIPTION MATERIAL

201 HW2350 ALUMINUM DRAWER PULL Cast Alum, Chrome Finish
202 ADS 7650-20 LH 20" Model 7650 Suspension w/ Lock-In/Out, LH

203 12 AH7600-20 20" Model 7600 Suspension

205 28 9501.001.0808 #8 X 1/2 PPH Sheet Metal Screw Zinc-Plated Steel

206 Fastenal 52006 3/8"-16 X 3" ZPS Wedge Stud Anchor Zinc-Plated Steel

207 9510.001.038C 3/8-16 Hex Nut Zinc-Plated Steel

208 96 9530.001.64 #64 BH Open-End Blind Rivet Steel Rivet / Mandrel

209 32 9530.001.84 #84 BH Open-End Blind Rivet Steel Rivet / Mandrel

210 9540.001.060A1 3/8 Type A - SAE Flat Washer Zinc-Plated Steel

@

211

9540.111.060

3/8 Regular Split Lock Washer

Zinc-Plated Steel

.
-

DELTA DESIGNS L T D.

1535 N.W. 25TH
TOPEKA, KS 66618

A

OPPORTUNITY 3721 / JOB 102359
2244 | 5610

FINISH:
ASA-61P Gray

EST WEIGHT:
337.5 Ibs

QTY REQ'D:
5 Units as shown

NOTES:

Each pull-out shelf is vertically fixed
in place. Each shelf includes one left
hand Lock-In/Out Hvy-Duty
Suspensions. The rack to be
anchored to the floor and wall.

u

.
-

\_

J
¢ PROJECT DESCRIPTION )

Natural History Museum of LA

County
- - Vernon, CA
\_ J
¢’ DRAWING DESCRIPTION )

LY

.

Item 01 Specimen Tank Rack
45" W x 83" H x 23" D

\ )
(scaie NOT TOSCALE )

prawN S CLARK 5/31/2018

DRAWING NO.

-
-
.

02244-01

\_ SHEET 4 OF 4 )

COPYRIGHT © 2018 DELTA DESIGNS LTD. This material is proprietary and confidential, and the disclosure reproduction (by photography, film, blueprint or
otherwise) or incorporation into any information retrieval system without first receiving written approval from Delta Designs LTD. is expressly prohibited by law.

C:\Delta Engr\Designs\000 Projects\02244-01.iam
C:\Delta Engr\Designs\000 Projects\02244-01.idw



